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Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1. A. suit


B. son


C. sugar

D. sing
Question 2. A. man 
   

B. stage
        
C. page                    
D. bake 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

Question 3. A. student 

B. machine         
C. beauty   

D. village 

Question 4. A. important   

B. dangerous
       
C. obedient
         
D. athletic 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

Question 5:  The house  ______ completely in the fire has now been rebuilt.

A. destroying        
     B. was destroying      
C. destroyed       

D. was destroyed
Question 6 : Universities in Vietnam have become ____________ to foreign students than ever before.
A. the most attractive
      B. most attractive

C. more attractive

D. attractive 

Question 7 : Mr Johnson will return your call______.

A. after he had had some free time    

B. as soon as he has some free time                 
C. when he had  some free time         

D. by the time he had some free time      
Question 8  : It took him hours to complete the letter in English, but it was full ______mistakes

A. on 


B. about 


C. for



D. of

Question 9 : Tom invited us to come to his party, _____ . 
? 
A. didn’t he  

B. don’t he    


C. couldn’t he   

D. wasn’t he

Question 10: I haven’t been to ______ cinema for ages. 

A. the  



B. a  


C. an  



D. no article 

Question 11. Candidates applying for this position must have a master’s _______ in science.

A. diploma
     B. degree
C. license
D. certificate

Question 12. She _______ the job offer just because she didn’t want to leave her family behind.


A. called up
B. turned down 
C. set off                D. looked into
Question 13 . It was late , so we decided ____________ without him.

    A. to go                   
B. going            
C. go                 
D. to going
Question 14. Tim was totally fed up with his new job and decided to wear his _______ to his sleeve.


A. finger
B. heart
C. nose
D. lung

Question 15. While Alex was crossing the street, a strange man _______ him to ask for some money.


A. approached
B. Approaches     
C. had approached    
D. has approached

Question 16. Cleaning the streets on a weekly basis can really _______ a difference to your hometown.


A. pay
B. get
C. have
D. make

Question 17 .She hopes that the document _______by a professional translator.

A. translated.     
B. will be translated         C. has translated         
D. was translating

Question 18. For sedentary workers, a __________ lifestyle helps them limit obesity and prevent diseases (cancer, disc herniation, etc.)
A. health
B. healthily
C. healthiness
D. healthy 

Question 19. Fog smothered districts 1, 4 and 7, where many drivers complained of poor _______ until noon.

A. tension

B. view

C. visibility


D. vision
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

Question 20. A student is talking to his teacher about his IELTS result.


- Student: “Teacher, I’ve got 8.5 on the IELTS test.” 



- Teacher: “_______. Congratulations!”


A. Oh, hard luck
B. Good job
C. Big deal
D. Good way

Question 21. Susan and Laura are talking about robots.

-
Susan: “I believe that manual workers will be completely replaced by robots.”

-
Laura: “________. They will be retrained to take on other duties.”

A. I don’t think so
                   
B. You can say that again. 


C. I couldn't agree with you more             
D. There’s no doubt about it

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 22. Coronavirus is an infectious disease which causes serious illnesses.

A. clear
B. untidy
C. harmless
D. spreading

Question 23. Instead of getting all riled up about the boy’s uncooperative behaviours, the teacher should try to figure out how to get him involved in the class activities.

A. getting highly excited

B. becoming really annoyed

C. being extremely satisfied
D. appearing quite unconcerned

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 24. They have called for the government’s action to control inflation.

A. connect
B. protect
C. increase
D. limit

Question 25. Ha Long Bay has attracted millions of visitors who come to enjoy its breathtaking views and experience other activities.

A. unbreathable 
 B. heartbreaking 
C. awe-inspiring 
D. unforgettable

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 

Question 26: It is not necessary for you to wear formal clothes to the party this evening.
A.  You shouldn’t wear formal clothes to the party this evening.

B.  You would wear formal clothes to the party this evening.

C.  You must wear formal clothes to the party this evening.

D.  You needn’t wear formal clothes to the party this evening.

Question 27: The last time she came back to her hometown was 4 years ago.
A. It's 4 years since she last lived in her hometown.

B. She didn't come back to her hometown 4 years ago.

C. She started coming back to her hometown 4 years ago.

D. She hasn’t come back to her hometown for 4 years.

Question 28: “What have you done to my laptop, Jane?” asked Tom.
A. Tom asked Jane what had she done to his laptop. 

B. Tom asked Jane what has she done to his laptop.

C. Tom asked Jane what she had done to his laptop.


D. Tom asked Jane what she has done to his laptop.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

Question 29. You should be more respectable of other people’s points of view. Don’t embarrass
                              A                         B                                              C                          D
someone even if they are wrong.

Question 30. A few months ago, there is a very tall tree in the schoolyard.

 

    A


  B
       C

           D
Question 31. Some animals are in danger of extinction as humans are hunting it for meat.

 



    A

      B


C
      D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions

Question 32: They cannot continue the work. They are too tired.

A. If they are not too tired, they can continue the work.

B. If they hadn't been too tired, they could continue the work.

C. If they hadn't been too tired, they could have continued the work.

D. If they were not too tired, they could continue the work.

Question 33: Tonny started working. He then realized that his decision had not been a good one.

A. No sooner had James begun his new job than he knew his decision was wrong.

B. Had Tonny not begun his new job, he would have gone looking for a better one.

C. Since Tonny did not like his new job, he began looking for a better one.

D. Just before Tonny took up his new post, he realized that he was not suited for it.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38.
The Plastiki looks similar to (34)  ____________other boats in Sydney harbour. It's eighteen metres long, six metres wide and it weighs about twelve thousand kilogrammes. It carries a crew of six people and has an average speed of five knots.(35)_________, once you get near to the Plastiki you realise there's a big difference. It's made of twelve thousand five hundred re-used plastic bottles.

David de Rothschild is an environmentalist (36)_______has crossed Antarctica and explored the Ecuadorian Amazon. One day he was reading some information about all the plastic in the seas and oceans. He couldn't believe what he was reading. For example, humans throw away four out of every five plastic bottles they use, and plastic (37)_________in causes about eighty per cent of the (38)_________in the sea. In addition, scientists think that around one million seabirds die every year from plastic pollution. De Rothschild decided he wanted to help fight pollution in the sea. To help more people understand the problem, he started building a boat made of plastic bottles.

(Adapted from Life by John Hughes, Helen Stephenson and Paul Dummett)

Question 34: A. every 

B. much

C. each


D. many

Question 35: A. Otherwise

B. Moreover 

C. However 


D. Although

Question 36: A. whose

B. whom 

C. who


D. which

Question 37: A. rubbish 

B. sewage 

C. trash


D. litter
Question 38: A. congestion

B. pollution 

C. evaporation

D.obstruction 
Read the following and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 43.
A poll of more than 850 primary, secondary and further education staff by the Association of Teachers and Lecturers (ATL) found that while boys' behaviour at school remains more challenging than girls, both have got worse over the past five years, according to more than half of respondents.

In the survey, a primary school teacher from Bedfordshire said: "Boys are generally more physical and their behaviour is more noticeable. Girls are often sneakier about misbehaving, they often say nasty things which end up disrupting the lesson just as much as the boys, as other children get upset and can’t focus on their work. They are usually the ones who refuse to comply with instructions." In schools that have excluded pupils, 57 per cent of education staff said that more boys have been excluded for challenging behaviour.

Among both sexes, low-level disruption such as talking and not paying attention was the most problematic behaviour for 70 per cent of respondents. For girls, most staff said bullying such as spreading rumours was the biggest problem. Among boys the most challenging behaviour was physical aggression. Staff thought the main reasons for challenging behaviour within their schools and colleges were family breakdowns, followed by a lack of positive role models and poor emotional health.

(Adapted from https://www.cypnow.co.uk/)

Question 39. Which best serves as the title for the passage?

A. Education among Boys and Girls

B. Worsening School Students’ Behaviour

C. A Bias against Girls in Class

D. Students Suffer from Bullying at School

Question 40. According to paragraph 1, what was the finding of the ATL’s survey?

A. Boy’s behaviour at school remains unchanged.

B. Both boys and girls show improved behaviour.

C. Girls are naturally talkative than boys.

D. Students’ behaviour, irrespective of sex, has got worse.

Question 41. The word ‘noticeable’ in paragraph 2 is closest in meaning to ______.

A. clear
B. gentle
C. bad
D. effective
Question 42. The word ‘they’ in paragraph 2 refers to ______.

A. lessons
B. boys
C. girls
D. teachers

Question 43. Which of the following is NOT true, according to the passage?

A. Boys’ misbehaviour is easier to recognise.

B. Other students can’t concentrate on the lessons because of some students’ unpleasant behaviour.

C. Only boys have been expelled from school due to their misbehaviour.

D. Spreading rumours is one of the commonest bullying behaviours among girls.

Read the following and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50.
Water pollutants result from many human activities. Pollutants from industrial sources may pour out from the outfall pipes of factories or may leak from pipelines and underground storage tanks. Polluted water may flow from mines where the water has leached through mineral-rich rocks or has been contaminated by the chemicals used in processing the ores. Cities and other residential communities contribute mostly sewage, with traces of household chemicals mixed in. Pollutants from such agricultural sources as farms, pastures, feedlots, and ranches contribute animal wastes, agricultural chemicals, and sediment from erosion.

Oil spills often occur through accidents, such as the wrecks of the tanker Amoco Cadiz off the French coast in 1978 and the Exxon Valdez in Alaska in 1992. Routine and deliberate discharges, when tanks are flushed out with seawater, also add a lot of oil to the oceans. Oil in coastal waters kills tidepool life and harms birds and marine mammals by causing feathers and fur to lose their natural waterproof quality, which causes the animals to drown or die of cold. Additionally, these animals can become sick or poisoned when they swallow the oil while preening.

Water pollution can also be caused by other types of pollution. For example, sulfur dioxide from a power plant’s chimney begins as air pollution. The polluted air mixes with atmospheric moisture to produce airborne sulfuric acid, which falls to the earth as acid rain. In turn, the acid rain can be carried into a stream or lake, becoming a form of water pollution that can harm or even eliminate wildlife. Similarly, the garbage in a landfill can create water pollution if rainwater percolating through the garbage absorbs toxins before it sinks into the soil and contaminates the underlying groundwater.

Pollution may reach natural waters at spots we can easily identify, known as point sources, such as waste pipes or mine shafts. Nonpoint sources are more difficult to recognize. Pollutants from these sources may appear a little at a time from large areas, carried along by rainfall or snowmelt. For instance, the small oil leaks from automobiles that produce discolored spots on the asphalt of parking lots become nonpoint sources of water pollution when rain carries the oil into local waters. Most agricultural pollution is nonpoint since it typically originates from many fields.

Question 44. What is the passage mainly about?
A. some solutions to water pollution
B. causes and effects of water pollution
C. advising not making any pollutants to pour into water
D. some necessary information to solve water pollution
Question 45. The word leached has a close meaning to ______

A. removed 

B. flown 

C. poured 

D. eroded

Question 46. According to the first  paragraph, which of the following is TRUE?
A. farms and pastures also dispose of water pollutants
B. city sewers do not contain industrial pollutants
C. municipal areas have farms, pastures, feed lots, and ranches
D. animal wastes are not a kind of water pollutants

Question 47. The word preening has a closet meaning to ______
A. making oneself beautiful

B. looking neat and attractive
C. eating preys greedily


D. using beaks to make feathers smooth

Question 48. The underlined word it in paragraph 4 refers to ______.

A. the garbage

B. landfill

C. rainwater

D. toxin
Question 49. According to the last paragraph, ______
A. rainfall or snowmelt triggers nonpoint sources of water pollution
B. rainfall or snowmelt has no relation to water pollution
C. automobiles cause point sources of water pollution
D. automobiles only cause air pollution
Question 50. Which of the following can be inferred from the passage?
A. Water pollution is not related to other types of pollution.
B. Air pollution can lead to water pollution.
C. Acid rains do not do harm to wildlife.
D. Power plant’s chimneys cause both air pollution and water pollution.
THE END
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Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1. A. suit


B. son


C. sugar

D. sing
Question 2. A. man 
   

B. stage
        
C. page                    
D. bake 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

Question 3. A. student 

B. machine         
C. beauty   

D. village 

Question 4. A. important   

B. dangerous
       
C. obedient
         
D. athletic 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

Question 5:  The house  ______ completely in the fire has now been rebuilt.

A. destroying        
B. was destroying      

C. destroyed       

D. was destroyed
Question 6 : Universities in Vietnam have become ____________ to foreign students than ever before.
A. the most attractive
      B. most attractive


C. more attractive

D. attractive 

Question 7 : Mr Johnson will return your call______.
A. after he had had some free time    

B. as soon as he has some free time                 
C. when he had  some free time         

D. by the time he had some free time         
Question 8  : It took him hours to complete the letter in English, but it was full ______mistakes

A. on 


B. about 


C. for



D. of
Question 9 : Tom invited us to come to his party, _____  ? 
A. didn’t he  

B. don’t he    


C. couldn’t he   

D. wasn’t he
Question 10: I haven’t been to ______ cinema for ages. 

A. the  



B. a  


C. an  



D. no article 

Question 11. Candidates applying for this position must have a master’s _______ in science.

A. diploma
     B. degree
C. license
D. certificate

Question 12. She _______ the job offer just because she didn’t want to leave her family behind.


A. called up
B. turned down 
C. set off                D. looked into

Question 13 . It was late , so we decided ____________ without him.

    A. to go                   
B. going            
C. go                 
D. not go 
Question 14. Tim was totally fed up with his new job and decided to wear his _______ to his sleeve.


A. finger
B. heart
C. nose
D. lung

Question 15. While Alex was crossing the street, a strange man _______ him to ask for some money.


A. approached
B. Approaches     
C. had approached    
D. has approached

Question 16. Cleaning the streets on a weekly basis can really _______ a difference to your hometown.


A. pay
B. get
C. have
D. make
Question 17 .She hopes that the document _______by a professional translator.

A. translated.     
B. will be translated         
C. has translated         
D. was translating

Question 18. For sedentary workers, a __________ lifestyle helps them limit obesity and prevent diseases (cancer, disc herniation, etc.)
A. health
B. healthily
C. healthiness
D. healthy 

Question 19. Fog smothered districts 1, 4 and 7, where many drivers complained of poor _______ until noon.

A. tension

B. view

C. visibility


D. vision
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

Question 20. A student is talking to his teacher about his IELTS result.


- Student: “Teacher, I’ve got 8.5 on the IELTS test.” 



- Teacher: “_______. Congratulations!”


A. Oh, hard luck
B. Good job
C. Big deal
D. Good way

Question 21. Susan and Laura are talking about robots.

-
Susan: “I believe that manual workers will be completely replaced by robots.”

-
Laura: “________. They will be retrained to take on other duties.”

A. I don’t think so
                   
B. You can say that again. 


C. I couldn't agree with you more             
D. There’s no doubt about it

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 22. Coronavirus is an infectious disease which causes serious illnesses.

A. clear
B. untidy
C. harmless
D. spreading

Question 23. Instead of getting all riled up about the boy’s uncooperative behaviours, the teacher should try to figure out how to get him involved in the class activities.

A. getting highly excited

B. becoming really annoyed

C. being extremely satisfied
D. appearing quite unconcerned

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 24. They have called for the government’s action to control inflation.

A. connect
B. protect
C. increase
D. limit
Question 25. Ha Long Bay has attracted millions of visitors who come to enjoy its breathtaking views and experience other activities.

A. unbreathable 
 B. heartbreaking 
C. awe-inspiring 
D. unforgettable

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 

Question 26: It is not necessary for you to wear formal clothes to the party this evening.
A.  You shouldn’t wear formal clothes to the party this evening.

B.  You would wear formal clothes to the party this evening.

C.  You must wear formal clothes to the party this evening.

D.  You needn’t wear formal clothes to the party this evening.
Question 27: The last time she came back to her hometown was 4 years ago.
A. It's 4 years since she last lived in her hometown.

B. She didn't come back to her hometown 4 years ago.

C. She started coming back to her hometown 4 years ago.

D. She hasn’t come back to her hometown for 4 years.

Question 28: “What have you done to my laptop, Jane?” asked Tom.
A. Tom asked Jane what had she done to his laptop. 
B. Tom asked Jane what has she done to his laptop.

C. Tom asked Jane what she had done to his laptop.

D. Tom asked Jane what she has done to his laptop.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

Question 29. You should be more respectable of other people’s points of view. Don’t embarrass
                              A                         B                                              C                          D
someone even if they are wrong.

Question 30. A few months ago, there is a very tall tree in the schoolyard.

 

    A


  B
       C

           D
Question 31. Some animals are in danger of extinction as humans are hunting it for meat.

 



    A

      B


C
      D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions

Question 32: They cannot continue the work. They are too tired.

A. If they are not too tired, they can continue the work.

B. If they hadn't been too tired, they could continue the work.

C. If they hadn't been too tired, they could have continued the work.

D. If they were not too tired, they could continue the work.

Question 33: Tonny started working. He then realized that his decision had not been a good one.

A. No sooner had James begun his new job than he knew his decision was wrong.

B. Had Tonny not begun his new job, he would have gone looking for a better one.

C. Since Tonny did not like his new job, he began looking for a better one.

D. Just before Tonny took up his new post, he realized that he was not suited for it.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38.
The Plastiki looks similar to (34)  ____________other boats in Sydney harbour. It's eighteen metres long, six metres wide and it weighs about twelve thousand kilogrammes. It carries a crew of six people and has an average speed of five knots.(35)_________, once you get near to the Plastiki you realise there's a big difference. It's made of twelve thousand five hundred re-used plastic bottles.

David de Rothschild is an environmentalist (36)_______has crossed Antarctica and explored the Ecuadorian Amazon. One day he was reading some information about all the plastic in the seas and oceans. He couldn't believe what he was reading. For example, humans throw away four out of every five plastic bottles they use, and plastic (37)_________in causes about eighty per cent of the (38)_________in the sea. In addition, scientists think that around one million seabirds die every year from plastic pollution. De Rothschild decided he wanted to help fight pollution in the sea. To help more people understand the problem, he started building a boat made of plastic bottles.

(Adapted from Life by John Hughes, Helen Stephenson and Paul Dummett)

Question 34: A. every 

B. much

C. each


D. many
Question 35: A. Otherwise

B. Moreover 

C. However 


D. Although

Question 36: A. whose

B. whom 

C. who


D. which

Question 37: A. rubbish 

B. sewage 

C. trash


D. litter
Question 38: A. congestion

B. pollution 

C. evaporation

D.obstruction 
Read the following and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 43.
A poll of more than 850 primary, secondary and further education staff by the Association of Teachers and Lecturers (ATL) found that while boys' behaviour at school remains more challenging than girls, both have got worse over the past five years, according to more than half of respondents.

In the survey, a primary school teacher from Bedfordshire said: "Boys are generally more physical and their behaviour is more noticeable. Girls are often sneakier about misbehaving, they often say nasty things which end up disrupting the lesson just as much as the boys, as other children get upset and can’t focus on their work. They are usually the ones who refuse to comply with instructions." In schools that have excluded pupils, 57 per cent of education staff said that more boys have been excluded for challenging behaviour.

Among both sexes, low-level disruption such as talking and not paying attention was the most problematic behaviour for 70 per cent of respondents. For girls, most staff said bullying such as spreading rumours was the biggest problem. Among boys the most challenging behaviour was physical aggression. Staff thought the main reasons for challenging behaviour within their schools and colleges were family breakdowns, followed by a lack of positive role models and poor emotional health.

(Adapted from https://www.cypnow.co.uk/)

Question 44. Which best serves as the title for the passage?

A. Education among Boys and Girls

B. Worsening School Students’ Behaviour
C. A Bias against Girls in Class

D. Students Suffer from Bullying at School

Question 45. According to paragraph 1, what was the finding of the ATL’s survey?

A. Boy’s behaviour at school remains unchanged.

B. Both boys and girls show improved behaviour.

C. Girls are naturally talkative than boys.

D. Students’ behaviour, irrespective of sex, has got worse.
Question 46. The word ‘noticeable’ in paragraph 2 is closest in meaning to ______.

A. clear
B. gentle
C. bad
D. effective
Question 47. The word ‘they’ in paragraph 2 refers to ______.

A. lessons
B. boys
C. girls
D. teachers

Question 49. Which of the following is NOT true, according to the passage?

A. Boys’ misbehaviour is easier to recognise.

B. Other students can’t concentrate on the lessons because of some students’ unpleasant behaviour.

C. Only boys have been expelled from school due to their misbehaviour.
D. Spreading rumours is one of the commonest bullying behaviours among girls.

Read the following and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50.
Water pollutants result from many human activities. Pollutants from industrial sources may pour out from the outfall pipes of factories or may leak from pipelines and underground storage tanks. Polluted water may flow from mines where the water has leached through mineral-rich rocks or has been contaminated by the chemicals used in processing the ores. Cities and other residential communities contribute mostly sewage, with traces of household chemicals mixed in. Pollutants from such agricultural sources as farms, pastures, feedlots, and ranches contribute animal wastes, agricultural chemicals, and sediment from erosion.

Oil spills often occur through accidents, such as the wrecks of the tanker Amoco Cadiz off the French coast in 1978 and the Exxon Valdez in Alaska in 1992. Routine and deliberate discharges, when tanks are flushed out with seawater, also add a lot of oil to the oceans. Oil in coastal waters kills tidepool life and harms birds and marine mammals by causing feathers and fur to lose their natural waterproof quality, which causes the animals to drown or die of cold. Additionally, these animals can become sick or poisoned when they swallow the oil while preening.

Water pollution can also be caused by other types of pollution. For example, sulfur dioxide from a power plant’s chimney begins as air pollution. The polluted air mixes with atmospheric moisture to produce airborne sulfuric acid, which falls to the earth as acid rain. In turn, the acid rain can be carried into a stream or lake, becoming a form of water pollution that can harm or even eliminate wildlife. Similarly, the garbage in a landfill can create water pollution if rainwater percolating through the garbage absorbs toxins before it sinks into the soil and contaminates the underlying groundwater.

Pollution may reach natural waters at spots we can easily identify, known as point sources, such as waste pipes or mine shafts. Nonpoint sources are more difficult to recognize. Pollutants from these sources may appear a little at a time from large areas, carried along by rainfall or snowmelt. For instance, the small oil leaks from automobiles that produce discolored spots on the asphalt of parking lots become nonpoint sources of water pollution when rain carries the oil into local waters. Most agricultural pollution is nonpoint since it typically originates from many fields.

Question 44. What is the passage mainly about?
A. some solutions to water pollution
B. causes and effects of water pollution
C. advising not making any pollutants to pour into water
D. some necessary information to solve water pollution
Question 45. The word leached has a close meaning to ______
A. removed 

B. flown 

C. poured 

D. eroded

Question 46. According to the first  paragraph, which of the following is TRUE?
A. farms and pastures also dispose of water pollutants
B. city sewers do not contain industrial pollutants
C. municipal areas have farms, pastures, feed lots, and ranches
D. animal wastes are not a kind of water pollutants

Question 47. The word preening has a closet meaning to ______
A. making oneself beautiful

B. looking neat and attractive
C. eating preys greedily


D. using beaks to make feathers smooth
Question 48. The underlined word it in paragraph 4 refers to ______.

A. the garbage

B. landfill

C. rainwater

D. toxin
Question 49. According to the last paragraph, ______
A. rainfall or snowmelt triggers nonpoint sources of water pollution
B. rainfall or snowmelt has no relation to water pollution
C. automobiles cause point sources of water pollution
D. automobiles only cause air pollution
Question 50. Which of the following can be inferred from the passage?
A. Water pollution is not related to other types of pollution.
B. Air pollution can lead to water pollution.
C. Acid rains do not do harm to wildlife.
D. Power plant’s chimneys cause both air pollution and water pollution.
THE END

